h & K = £ B £ PR 1% % B % = HpfrE s
N[/ i
MR R
BEH [ &M & A R WEH | AF & A H
TREZARAL EHAL
% 5 BIEREL 3(3)F20mH R R T - TRtBR
Vi AN
i TAEFE SEw I CEEYity W E E T W EE
B O E Afn6 43 HEE
itﬂ%a @ 11 @ E&E% “ﬁﬁ) WA TOM : BHEI L8 & OV O 23 HE e T %%
Hodk M £ — A
Bk B #f IE: MHIEEE L
T 5T Moo BERARET HipN
F%f%mlléé HiE EALETEL SR i
THE4 PeBEPALET O £22150mnAl K E KRR T8 (5§41 TIX)
X g % %H el G2
Tl A% 14, 880, 000 [
TH & BiFH 24 %A 1,488,000 [
T 16, 368, 000 4

¥ BT KER




R ()
g 2l
Ak T

A T

WET

iz

DIP¢
LI ¢
THKAR ¢
DIP¢

21
150
150
75
50

1

HAL

i
(&30

= )
112. 3
2
1
107




H# L F%&KNRE
AR BHMCEE K OV QAR T34
# F T Fii il Al AR A HAL B & H il 4 H
( 3,120, 470 )
¢ 150K% TF (KiHH) 5, 553, 692
( 3,120,470 ) |( 3,120, 470 )
e = 1 3,573, 080 3,573, 080
+T = 1 1,369, 816 1,369, 816
T =, 1 610, 796 610, 796
184,574 )
¢ 1507H KIRFRIE T8 (KR 382, 987
( 184,574 ) |( 184,574 )
wMELE = 364, 464 364, 464
=N = 1 18,523 18, 523
( 21,730 )
o I50RERETE (KIEH) 1,701, 290
( 21,730 ) |( 21,730 )
wMELE = 1 21, 730 21,730
+T = 1 1,629, 733 1,629, 733




H# L F%&KNRE
AR BHMCEE K OV QAR T34
# F T Fii il Al AR A HAL B & H il & % L]
(= = 1 133, 607 133, 607
B3 A = 1 -83, 780 -83, 780
M T () 546, 000
RIS = 1 546, 000 546, 000
( 3,326, 774 )
EREEN ) 8, 183, 969




AT HFH N OBROE
THE: BAEI T ROV O R HEE T 54k
% B T Fii il il AR A HAL B & H fifi & % fii
. ( 3,326,774 )
ERERE X =y 1 8, 183, 969
JLd R = 1 1, 068, 926
IR 2 SR A = 1 996, 000
B RGR e BE REG = 1 72,926
e Y 1 72,926
T
15T 1 /1. 0XL2. 5XHL 5 = 1 72,926
Wi = 1 9, 252, 895
e = 1 3, 029, 000
5 PR R AR = 1 3, 029, 000
T A = 1 12, 281, 895




A LT HF KN R F
# H T i i ] LA S H i I&/f i ﬁm?i o Diﬁﬂ}‘%ﬁI?%
— R PR X 1 2,598, 105
— R ARG AR E20 1 2,597, 000
) PR A2 20 1 4,791
L efffi A% 20 1 14, 880, 000
T 22 BiAH 24 %0 20 1 1, 488, 000
AT X 1 16, 368, 000




